NLCD 51

BOSL

B0

tlfz : (46, (88, 912, 216, 920), 225)

(1] eteST
AN BUAL

Ak

6:
12:
20:

@6mm 8: 48mm
¢12mm 16 2 16mm
@20mm 25 ¢256mm

* Contact us at $8~920, 932

1732 (mm)

06 :
08
012
016
620
025
032

10, 20, 30, 40, 50

10, 20, 30, 40, 50, 75

:10, 20, 30, 40, 50, 75, 100

+10, 20, 30, 40, 50, 75, 100, 125, 150
:10, 20, 30, 40, 50, 76, 100, 125, 150
:10, 20, 30, 40, 50, 75, 100, 125, 150
:10, 20, 30, 40, 75, 100

(4] f7i2iA%E

- BRAT AR R
MimEE | R
RIHRF
BifHRB

- KRR
i 1 S
Rild © SF
Bl 1 SB

- RETFEIES (D)
=B AR (NEIRAEE)
L Zin&%Eng

(Bl T %
=gk
WeH @ FE = KFELY)
wev @ EERX (EHE)
WOH : B8 F OKFR)
woV : BB TR (EER)

Bl TR E=E
=8 2%
S
Both : R

ACP
APM

AX
AS
AM2
cKIFZES M
- REEEHETNE R AR AL/ALX
c RERENYIPrIZeEgirEEE AQ
s HR O EFEDSENTE F
cH=MZEERA S
AQ2
ADQ2
AJ
AG
AGX/GX
TCRL
NP
ADR
‘/715 X ——
prig R
@ NDM
6] ARD
NST
42 ihEERI = AST—
ASTH
FARES 120 +HR R I R Ese —
TR 06 -
28 TR 08 TS 0805 NLCS
%12 TR 12 TS 0806 |
916 TR 16 TS 1007 SB
20 TR 20 TS 1411
TR 25 TS 1412 NF
NR
ASL
TPC-1000
| TPC-1200
SAH
383

www. TPCpage.cn



NLCD %3y

* f R A TIZHEESE(RF)

Foommmmmmmmmoo——ooooo——oooo- AFRE - ar--o-- BXLE - .
Case of ALCD 6 c
c A

1 [ 1
1 [ 1
1 [ 1
1 [ 1
1 [ 1
1 L 1
1 [ 1
1 [ 1
1 [ 1
1 [ 1
1 | [ 1
i BN 0 i
AN = Oy =0 | e8I B
; - e | =™ — @ 1] I
E, | . I 1
1 [ H J 1
A2 & = ¥ !
1 [ 1
1 [ 1
! = D i !
1 [ 1
1 [ 1
1 [ 1
e o o o S J
B AR EHRE aREE
%3 sumsg | TR EE0H 5
mm A B C D E F M P H | J Q
| — 16.5
NLCD6 NLCD-RF6-5 5 10 | 18 |10.5 8 | 25 | M5x0.8 |[M25%x10| 12.5 9 10 |M25x10
NLCD-RF6-15 15 26.5
NLCD-RF25-5 5 325
NLCD25 NLCD-RF25-15 15 16 |49.5|26.5(425| 19 6 |[M14x15| M8x25 31 185 | 22 |M6x25
NLCD-RF25-25 25 525
« @RI FTIZIAZEESS(RB)
R SmGEEEEEEEEPEERES ABRLE --oo-mmmmmooooe oo -
i D i
1 1
| H E |
1 1
1 1
1 1
1 1
! T - !
o B f)»\% -— - |
! AN !
1 1
| éﬁf ® =
| @ =2
I A 1
1 1
1 1
! / A F !
i J i
1 1
b e e e e e e e e e e e e e e e e e e e e e e o e — — — — — — — — — ———————_—_—_— — o — — J
%31 | wmuws |TEASCE il
(mm) A B c D E F G H J K
NLCD6 NLCD-RB6-5 5 22 20.5 12.5 10 16.5 6.5 8 25 | M25x8 | M5x0.8
NLCD-RB6-15 15 26.5
NLCD-RB25-5 5 325
NLCD25 NLCD-RB25-15 15 57 58 39 23 425 18 19 6 M8x16 [M14x1.5
NLCD-RB25-25 25 525

384




NLCDzx3)

ACP

APM
BEARSH AX
22 mm) 6 | 8 | 12 [ 16| 20 | 25 | 32 AS
R Alir —
BIEs= Wz AM2
BIEES 0.16 ~ 0.7 Mpa(1.5 ~ 7.1kgf/cm?) AM
RAMEE 1.05 Mpa (10.7kgf/cm?) —
REHN R -10 ~ 60 AL/ALX
EERE 50 ~ 500mm/s ——
8 T AQ
WMFFX (0 4) #HESL © DC(24V) / AC(110V) —
(TT3) SBEHFTSL 1 DC924V) ADQ
TEREAZ 0~ +1mm AQ2
T BT + R (B0 TR EE) (ADQ2
(fTi2iF%) /=R AJ
AG
FREITIE AGX/GX
i 742(mm) TCRL
= 10 | 20 | 30 | 40 | 50 | 75 | 100 | 125 | 150 NP
26 [ ) [ ) [ ) [ ] [ - - -
38 ° ° ° ° ° ° - - ADR
312 ° ° ° ° ° ° - - L
%16 ° ° ° ° . ° ° ° - AMR
220 [ ) [ ] [ ] [ ] [ ] [ ] [ [ ] [ ]
@25 [ ) [ ) [ ) [ ) [ ] [ ] [ ) [ ] [ ] NDM
@ [ ] [ ] [ ] [ ] [ ] [ ] [ ] - -
32 ARD
= NST
—
(Unit : g) AST
FRAEATEZ (mm) R ASTH
o B | 4GEiE | @BEiE | 4E0in
= 110 | 20 | 30 [ 40 | 50 | 75 | 100 | fTi2iA | 1Ti2IE | RAE2E | mEms NLCD
moe e e
NLCD6 | 97 | 120] 138|186 | 216 - | - 3 85 - - NLCS
NLCD8 | 165 | 176|209 | 258 |313 | 456| - | 135 8 31 40 B
NLCD12 | 336 | 336 | 336 | 396 | 495 | 683| 920| 27 18 45 54
NLCD16 | 588 | 588 | 597 | 656 | 784 [1127]1421| 45 27 72 9% NF
NLCD20 | 950 | 969 | 997 [1092|1235| 1615(2137| 90 64 153 184
NLCD25 |1599|1618|1627(1767|2008| 2557|3162| 140 174 155 1935 NR
NLCD32 | - | - |2416] - | - |3168/3960| - - - -
ASL
TPC-1000
TPC-1200
SAH
385

www. TPCpage.cn



NLCDzx3)

BRIRE
EHHIEFENBEIRE KFEFIEFENBEIRE R B ENBEIRE

AENHEFRERDTRAG 2 BEN, BENKFREZMENEEZIHS WSFAARTHINEHFREZRATLA
FERNRSEMNESER, #IKFHEE 2, 715, MO TEBEHRNBTNE,

]

] ]

—

Q
o

I
SE
[:

6 Lr=24mm
0.04 0.04 0.020
£ = 0w £ 001
£ £ £ NLCD§- 10| NLCDG-20 NLCD6-30
S NLcDs-50 |Niope-40 |Nope 30 | | kS il S L A
£ / NLODE-10 8 NLCDG-SON0D6-40 NFE5e-30 8000 NLOD6-40
5 4 /// 3 // A Nicos-10_|_| T » 2
o o o NLCD6-50
8 oo // ' 8 oo ~ 8 oo // s ;
// éégg :/ [
0 10 20 30 ) 0 10 20 30 4 0 10 20 30
Load N(1N=0.102kgf) Load N(1N=0.102kgf) Load N(1N=0.102kgf)
225 225 325 Lr = 154mm
007 I f 005 0040 I
NLCDp5-150 | NLCD25-125  NLOD25-100 0035 NLCD25-10
0.06 / - NLCD25~ 150|NLCD25-125NLCD25-100) : Ht%g%g’ég
= /] € NLCD25-75 £ 0.0%0 NLCD25-40 NLCD25-50 —75 NLCD25-100
£ 4 / NLCD25-75) £ A 4 £ y /NLCDZS 75
S 0.04 / A | S 003 / NEB55 30 g "% r
2 / V /’ NLCD25-50 2 VN7 1 3 / // pd
2 3 // ‘NLCD2‘5—40 8 /l A TR 3 o / // /
(o} (o} [
g / A LT NLCD25-30 g 0.02 4 A // 7 = NLCD25-20 g 0.015 4 / 7
Lo L NLCD25-20 2 N NLCD25- 3
e} 74 A — e} - CD25-10 =}
8 // / / |~ —-NLCD25-10) K = S 0010 78
0.01 7 0.01
= = e Jf
0 100 200 300 400
0 100 200 300 400 0 5 100 150 200 250 300
Load N(IN=0.102kgf) Load N(1N=0.102kgf) Load N(IN=0.102kgf) — ]

386




NLCDzx3)

ACP

APM
SEE AX
e AS
t-H —
= AM2
AM
O AL/ALX
® i I
TABLE CYL SEC 7%L© AQ
® 5@ ADQ
AQ2
5@ 20 M
AJ
N ‘ T T r 7;)::3 AG
I S ﬂ:J —
E@l Tk N AGX/—GX
: ——
| \ Z\_JX‘lﬂ TCRL
\\ éy J lé \ i
©® @ @ ® ——
ADR
AMR
=R —
NDM
No. B kel &ix No. Bk E &ix ———
® | f&# BER kifiz BER ARD
@ | B8 BEE ORI BEWN e
Q@ | B BEE @ | #EHH NBR NST
@ | PRBH AN Q | FEHF TEEW —
® | XEH AN @ | FEBHH NBR AST
® | AR TEH @ | #EORE) NBR L
@ | ASREHR TEEN @ | Zipsg R <E ASTH
HAERZ IR HEN/MCRE % ® | ZhRZER TEEH %k —
@ | efigs EN @ | NRAER ikl ik
AR REN @ | BihEEERE E&W ok e
O | ARREF it @ | B8 E&W b3 NLCS
® | (+)FIRsgHe TEN @ | ZPBERER? #BE T3k ——
® | ik BE 0 | RNAER W ik SB
U BE @ | ZiPERER-3 BEE ik
® | HPpE B @ | A AR il b3 NF
Wik NBR S | 1B E&W
@ | &= BE5% @ | Zips R =EE NR
e . ASL
HbIBs/ZEA Y ———
R
N | &m Hitt Lliacs —
26 925 SAH
® EEBHMA NBR OPA-6 OPA-25 I
@ TEETEH NBR KSYA-3 ORA-12
© HESME NBR GEXB4XT |92656XB225%2
387

www. TPCpage.cn



NLCDzx3)

Extension Stroke
(Basic Position for attaching)

16 FF 3H9 4 (OP:2.5)

@3HI §75 (0P 1 2.5) 7 Retraction Stroke
o7 ol =3I T OATT (Basic Position for attaching)
e - ! i
Y
M3x0.5 | ] 7 iy = o 76—
BOOEBNES) N ] s 2] D @@,,@@@ ) I s
k = . . !
Max0.7 !
a1 [ .
TABLE CYL' SEC. I Fxn M30.5 (DP:5)
5 M
K 123 4 M2.5x0.45
. (OP:4)
85 55 as |7
4 M3%0.5 (OP5 . s N 55 1as
S 4
; — ! L 4-M2.5x0.45 (OP:5)
o ]| |9 i
3] il Ve
w5
= i3 1
“is 0 ‘ J
Z
77
Hxn G
@3H9'§ 5 (OP:2.5)
HE Il
& & :‘r
e - ! L 3Ho " (DP:2.5)
A
HA GA

il Fxn| FF | G |Hxn| GA | HA | | JIK|M|Z|Zz
NLCD06-10{20x1| 20 | 6 |256%1| 12 | 25| 10 | 17 | 26 | 42 |41.5| 48
NLCD06-20(30x1| 30 | 6 [36x1| 12 | 20 | 10 | 27 | 36 | 62 |51.5| 58
NLCD06-30{20x2| 20 | 11 [20x2| 22 | 20 | 7 | 40 | 46 | 62 |61.5| 68
NLCD06-40(28x2| 28 | 13 [30x2| 26 | 30 | 19 | 50 | 56 | 84 |83.5| 90
NLCD06-50(38x2| 38 | 17 [24X3| 34 | 48 | 25 | 60 | 66 | 100 |99.5| 106

R-TEI(E12 2 25)

Extension Stroke Adjuster Retraction Stroke Adjuster Shock absorber attaching (z25)
(Basic Posilon for ataching) (Basic Posifon for ataching) Extension Shock absorber
30 Fxa
7 (Basic Positior
(=5 Nsdoors—~ — - 7 foratacting)
ot 4 = \ i i ! = ! !
1?0 € T : S = - .
@649(0P:8) 5 @6-19-G.03¢ \ Retraction Shock absorber
L ? (DP:6) L) o -3 / (Basic Position for attaching)
“Hei * 1 1/8* I - -
#o nﬁ(mm@\ N o & D\ \9 \P© Fe @ ¢@ \9 \P@ 3
Nizsew 56 6 To it $ %% % Yo -
{SYNOE -
B I ® ° ° ° °
181,25 (DPi17) = —
mnren sro i i i ] !
| S S | —

[ K 31033 11A-16x1.0 (0P:)
N _ - — Vaus ..
M R 2 Ll
MBx1.25 (DP:15) Max\.za:wa.o!@/ﬁ ‘6‘ Tzé : 4-Ac 178 (Ff)
TS [Fxn| FF| G [Hn|GA|HA| | | J | K |[KA|NA| M| Z | 2z
NLCD25-10 50x1] 40 | 22 W5x1| 22 | 45 | 12 | 47 | 35| - | 4 | 92 |905]1085
NLCD25-20 [50x1| 40 | 22 51| 22 | 45 | 12 | 47 |45 | - | 4 | 92 |905]1085
1R NLCD25-30 [50x1| 40 | 22 51| 22 | 45 | 12 | 47 |55 | - | 4 | 92 |905]1085
LA e A NLCD25-40 [60x1| 50 | 22 Bx1| 22 | 55 | 12| 57 |65 | - | 4 |102[1005[1185
i . : NLCD25-50 35x2| 35 | 20 [55x2| 65 | 35 | 12| 70 | 75| - | 4 |115]1138[1315
T m ‘E\%x NLCD25-75 60x2] 60 | 26 B5x3| 61 | 70 | 33 | 90 [100| - | 4 |1561548/1725
NLCD25-10070x2 70 | 32 [5x4 102| 70 | 50 | 114125|162| 8 | 197 19552135

388




>3 3 88
[an]
ol = (Y] < T cllz|l=2]a = || E |KSl| &8 = el =
o o o'
dHRBRAHBEIEEE BERIEEHRAHBEEEEA : EIRREEEE
R 8 o o Lol
S roTTTTTTTTTTTmTT T 1 anm I 1 ©
D “ “ S m bl m >
O ! ; méu_m “ w7
| | | 0 =i N FA PN
N ! , “Hn_uKﬂ .zx T = A_m
- ! | =

H @ = i o] 1w = i Lorm
4‘_a T . 2| o /\__”_ i -
i 1f =] ! - “ -
n_n “ H3 “Q 1 K3
N[i| ! @ | s i )
1 I -
(@] I Lo I 1 X
| . el i ]2

1 1 ®© 1 1
| e I S | | L
“ E “ Yo} b - .VM

) )

| | S| <
| | = o L =
"| L_ s 1 1 ~
|||||||||||||||||||||||||||| “ o “ I|—

P s oo —mm— oo ———o—— oo . ol ! ! jj !
| | | AL RLE

| i g | wlo ! f i
1 } 1 - | w ! 0
| 11 | | | 1l

— 1
| | “%Ew ! ﬁﬁu I & |
| Q9 < | [¢ | | L eE
m TN | EE ™ | [ws

! ,

! I i 1 7 - 1

I w 7 a I _.O ! !
i 1 af o ! | ! [<¢)
1 [a ) IF N

m | ! N m 7 |

hal | 7 !

%_n | ._AT I

b | Lo ~ d |
® ! ol * 5 m m| %

1

I I !
I ! © ! ! ~
| 3 HEhik | @/ | e
| N I i | | | gp | 2
b oo T £ (2 o 4 T g
ni s =S g , RS
5 I m 2 8 | o HC @ | =
o “ o K | “ -
m% P e e ] J _u_vm mm “ /“ nr_m
H = | O =] “ a = ]
& = & 3 z

389

www. TPCpage.cn




390

NLCD %3y

* AEBIHHASEE

prigitbig

SRTRBLCERR, FERNARBSEENNHE, REEKINEREF®,

1. BRI

FIHBRERER

2- a‘]W

CERES

* Zip 3

s AERES X

c SERERE

* EHEEVa(mm/s)
HEWN) :
*BEBLn (mm) :

T

FU= : NLCD025-30

i RERE D

EERE ()

EHEE © Va = 300[mm/s]
fE W =1[kg]

L1 = 15mm, L2 = 20mm, L3 = 35mm

—

THERREE (J)
IHE IR IF iR AENEEEa ()
KEEEATBIEa(E

3. aEtER

E = 1/2XW X (V/1000)*

B E V=14 XVa(mm/s)
Ea = KXEmax

RBRERBK
ARERATEE Emax
H8E (E) < THIFEIEE (Ea)

E = 1/2X1X(420/100) = 0.088
V =1.4x300 = 420
Ea=1x0.11=024

olgE& A E=0088 <Ea=0.24

3-1 AFitE
HETRIF fHWalke)
ITEAHEEE o

Wa = KX 8 XWmax
RERLERHK
DET e IR
BATSFRE Wmax :
a1 =W/ Wa

Wa=1x1X9=9
K=1
B=1

Wmax = 9
a1 =1/9 =011

32 S HEIHE
ITERASTIEM(N.m)
HEARIFEESHIEMa(N.m)
T EEBENELEE |

Wa = KX f XWmax

PP IE
5B 2 EBAN

Ma=K * y * Mmax
RERERHK
ARENERSY
BATEFNEMmax : B

187 (My) = 1x9.8(15+46)/1000 = 0,598
May = 1X1X27.54 = 27.54
Mymox=2754  K=1, =1
a2 = 0.598/27.54 = 0.02

167 (MP) = 1X9.8(20+17)/1000 = 0.362
May = 27.54
a 2= 0.362/27.54 = 0.013

3-3 BB HEITE
IHEMNSTIEEMe (N.m)

IR OB IFaIZSHEEMea (N.m)
IHENENIELLE © a3

\

4, teEz S50

Me = 1/3XWe X 9.8(Ln+An)/1000
AHMEFELEEWe =0XWXV
SPRERH
— BIRE -+ TIZEEE2E = 4100
- HEREE=1/100
- £EiA2E=16/100
NESDORERE
fEIE{EAN:

Mea = KXyXMmax
AHTERYK
aRiFNEZSy  [EER
SATUBFHE  Mmax | EA

a3 = Me / Mea

7 Mep = 1/3X16.8X9.8X(35+17)1000 = 2.85
We =0.04X1x420 =168, A2=17
Meap = 1X0.7%27.54 = 19.28
K=1, »=0.7, Mpmax = 27.54
a3 = 2.85/19.28 = 0.15

14725: Mep = 1/3X16.8X9.8 X (30+46)1000 = 3.62
We =168, Ad =46
Meay = 19.28(4% {48 %Meap)
'3 = 3.62/19.28 = 0.19

—

WFRA LRz SRR BT 1 Bt By

SBE

Ton = a1 X a2Xa3< 1

Zan=a1X @2X @ 2X a3X a'3
= 0.11+0.02+0.013+0.15+0.19 = 0.48 < 1

FisBSES




ACP
NLCDZ3 ——
APM
BN 523 5%k © Wikg) M Overhang : Ln(mm), Correction value for moment center An(mm) AX
//' f/// Pitching Moment Yawing Moment Rolling Moment AS
o —
AM2
- AM
R e —
& —
;—g AL/ALX
AQ
ADQ
AQ2
ADQ2
% AJ
(Fig.3 -SRI B AG
/’/’/// AGX/GX
Note) & ILik7: SEahks .
BT IRISERRTS TCRL
BTN 5K #21/Eh8E : Emax(l) ST o iR EATRE B NP
_ o S Ve 13 —_—
K=1 i BRET B R ADR
NLCD 6 0.018 0.7 e —
NLCD 8 0.027 0.045 05
NLCD12 0.055 0.11 %} AMR
NLCD16 0.11 0.22 b ——
NLCD20 0.16 0.32 # o NDM
NLCD25 0.24 0.48 g —
&
g 02 ARD
Correction value for moment center distance :
o ' 50 100 200 300 500 700
Table 2 Nks -y = F NP (kg) e Correction value for moment center distance TR (mms) NST
s AR —
BE RARG O Al [ A2 A3 [ A A5] A6 AST
NLCD 6 0.6 NLCD 6 | 11 | 7.8 [ 13 | 17 | 17 | 7.8 " -
NLCD 8 1 NLCD 8 | 11 | 8.7 | 13 | 20 | 20 | 8.7 SCIFHEsR RE v ==
NLCD12 2 NLCD12 [ 24 | 10 | 26 | 25 | 25 | 10 10 ASTH
NLCD16 4 NLCD16 | 27 [135] 30 | 31 [ 31 [ 135 |
NLCD20 6 NLCD20 | 34 | 15 | 36 | 38 | 38 | 15 0.7 N NLCD
NLCD25 9 NLCD25 | 42 [ 17 [ 44 | 46 [ 46 | 17 05
- —
RFRAHEN.m) &g o4 NLCS
o Stroke (mm) ﬁ* 03
S ;
10 20 30 40 50 75 100 = SB
NLCD 6 0.63 0.9 1.08 1.08 1.08 S 02
NLCD 8 18 1.8 2.52 3.24 378 3.78 NF
NLCD12 3.78 3.78 3.78 5.22 6.3 9 9 o i w0 30 500 700
NLCD16 10.17 10.17 10.17 10.17 14.31 22.5 30.7 ) .
NLCD20 1746 | 1746 | 1746 | 1746 | 2448 | 315 | 4545 R (M) SR ) NR
NLCD25 2154 | 2754 | 2754 | 2154 | 3852 496 60.57
He ASL
F5 AE. #S B #S AE #S R TPC-1000
An (n = 1~6) | Corretion valus ofr moment center distancelmm) Ma (Map, May, Mar) SVFESZSHAE Pich,Yaw Rol) N.m) W S R (kg) v RYFHERE TPC-1200
E shEE(J) Me (Mep, Mey) Eh75HE (Pitch, Yaw) (N.m) Wa | srahsifElkg) 0 iiER A —
Ea RVFEHEE() Mea (Meap, Meay) SEVFEAZSHAE (Pitch, Yaw) (N.m) Me REHED ) k THEERH SAH
Emax RARVFEIEE) Mmax (Mpmax, Mymax, Mmax)| &A S IFaHZSHEE Pich YawRollNm) |Wmax| AR a5 fifeilkg) S
Ln(n=1~3) Overhang (mm) V R (mm/s) a AfTE
M (Mp, My, Mr)| & LE38%E (Pitch,Yaw,Roll) (N.m) \a FERE (mm/s) B RYFHAERE
391

www. TPCpage.cn



392

NLCDzx3)

priit

A xs

@ AEBIRAETEEER,
ERBEBEERAALFRBNRKIFIE,
2R BEF2H, BHTRBITTEER,
AEENABE SR E R, REH
KIGEEHFG,

Q@ LS IBHBREFETEHLE, T
ERITHEISN o
WRBATHRAIND, B2 SBURA,
h—RAmoherEPEMuEHIIBAMEE,
M4, #Fi, BREEM—RETE, BAY
HBR, AEm@EREITS EIREEDREF

BB

@ RE[FEREIMINFE bl 1,
XHFSSHEE~EEESHRIA,

£

A iEE

O REMNVEE, CENER, AEI|
B~ 4 LR,
XERGEFNSHFTENERE, HF
HEEKXzmER» 1R 11,

@ ENNEGEFAIFAEEER =%
MR,
XESSEEHIHEREHEHIE S,

NLCD &5/ 2B
E

A ix=

@ EEmhiIBd, AEHINEIIMY R E
E7%;0)1E1 Va8
LENMAFCEZINTNE, £F4EE D
3K ZEHEBHFE A,

@ ZERXEOFEERNZ/)NT0.02mm,
LRENBENIHIRENTFEERS
i, TRERSHSHIBESAME BN,

® EESBEHIBIEN AHEE,
XERHMIZE N —LEEE, HE
P S@EWESNS, A5 ARRIFHEK
%E_Eo

® ELIENIR, TEEMSHESE,
LBABEREBDN, WMRITHRIREDT
BER SEIRMFEWR LS,
HTBRXLEEHLRE, MZREETE,
HEERESE,

QURBRNNZzEENYR A ERER
&k,
HTRETHSSWUMFXERIE, MR
MTEMRAERER, BFHETEY
o, SNHER WA,

A ixE

ZREMEN, FEAESKENE
F, FEITER, FTEBIRKIEFE
bakice
WRITENEBIIGIHHE, KFESE,
MRITERR, RSBNERNRE=SE

&%,

1. MEZ % (FEE)

]
) L]
Y Rl
LD |
0= BAITENE | RAIFATE
i ~i N.m(kg.cm) | (! mm)
NLCDO6 | M4x0.7 | 2.1(21.4) 8
NLCDO8 | M4x0.7 | 2.1(21.4) 8
NLCD12 | M5x0.8 | 4.4(44.9) 10
NLCD16 M6x1 | 7.4(75.5) 12
NLCD20 M6 x1 7.4(75.5) 14
NLCD25 | M8x1.25 | 18(180) 17
2. Mm% (@rLEY)
N
¢ L]
. [
0= BAITENE | RAIFARE
i =i N.m(kg.cm) | (! mm)
NLCDO6 | M3x0.5 | 1.2(12.2) 9
NLCDO08 | M3x0.5 | 1.2(12.2) "
NLCD12 | M4x0.7 | 2.8(28.6) 15
NLCD16 | M5x0.8 | 5.7(568.1) 175
NLCD20 | M5x0.8 | 5.7(568.1) 26
NLCD25 M6X 1 10(100) 88
3. Him R (EFE)
*
L - UI
*
H L
- BAITENE | BRIFAGE
= = N.m(kg.cm) |  (/mm)
NLCD06 [M2.5x0.45| 0.5(5.1) 5
NLCD0O8 | M3x05 | 0.9(9.2) 5
NLCD12 | M4x0.7 | 2.1(21.4) 9
NLCD16 | M5x0.8 | 4.4(44.9) 9
NLCD20 | M5x0.8 | 4.4(44.9) 9
NLCD25 M6x1 7.4(75.5) 9




NLCDzx3)

ACP

APM
5+ 2z SE B b == il AX
Sodk | g | | EEEREIEEW |
- . AS
A = A = R
I O FEERMNTRERS TS bER | TiRE%sE AM2
HHERFER, A A I
. J WRSEINTEN, SRTEEZESEREYD [E o) AM
| i, AHARGES, SSHMD, BN | O YFHMIREERNNE, FEMAR [
ZME RN, RSES, FriHBEE, AL/ALX
— XL SRBIMIE, [
@ AEERTREEEMBENON KR AQ
— LRI IE P ER, L
\ \ XESSEE D, ®INZHIBHEHFR ADQ
S, MRIAELMEXRAED, BS L
me | ge |PEVE|BAEARE | TPCIUEEE AQ2
N.m(kg.cm) (/'mm) M
NLCDO06 | M3x0.5 | 0.9(9.2) 5 @ Er HLEEES, AJ
NLCDO8 | M4x0.7 | 2.1(21.4) 6
NLCD12 | M5x0.8 | 4.4(44.9) 8 @ FEFEREERENFTE S,
NLCD16 | M6x1 | 7.4(75.5) 10 MRERESASH SREENFBTE AG
NLCD20 | M6x1 | 7.4(75.5) 13 ERETE, EBAFREERITSENMIE,
NLCD25 | M8x1.25 | 18(180) 15 BEE_ARAE, BEEse AGX/GX
T
2. Thepz s ® FEHEMIET MR D01, EA TCRL
MEHTRERNLER, MEBHRF | © AEITHREEEIFHIZT, NP
Sk, EBERTPC, ZET AR TR AARS,
WRXMEETITAN T, SSBRIH. ADR
R Ak E SR @ FRHEFEFBIHOBS, 2BE [—
= | B o P, AMR
TiZiFEEsE
A o ) Do not damage. NDM
SARENE | BABAR £ ‘ | (Foonrod vRD
me | ome || | @ REERESOBRE, ARD
NLobos | a0 Toss 5 WERBLSBEY, FAEEER. — ] NST
NLCDO8 | M3x0.5 | 0.9(9.2) 55 . el o e n gy —
NLep12 [ VaxoT Tara T3 @ HEEBNNIEES R0 T, @ WRBBHANDHELS, LWELE
- . - A it \ 4l \; o AN jjBR{EE ﬁ.‘iﬁﬁ%?& AST
NLCD’IG M5><08 44[449] 9 ?D%iﬁlr‘éﬂ?ﬁaﬁﬁﬁj *Tf_‘f, 'fiﬁﬁrgz kS, =z o
NLCD20 | MBx0.8 | 44(449) | 95 RI%. S RERIE ASTH
NLCD25 | M6x1 |74(755) | 115 e 72145 N.m(kg.cm) NLCDOS 50 (51.0)
NLCDO06 3.0 (30.6)
EREONAGRBNZAAPAUERD. | 1 cpog T o o NLCD
X EE ML S EES BIMRE, NLCD12 125 (128) NLeD20 5000 NLCS
NLCD16 25.0 (255) NLCD25 69.0 (704)
NLCD20 43.0 (439)
NLCDZ5 69.0 (704) @ BmEEHEFITEHE, BE2REOT |SB
EXS
S T 2414 N.m(kg.cm) NF
NLCDO8
T 167 (17.1) NR
NLCD16 3.14 (32.1)
ASL
T 10.8 (110.2) S
NLCD25 TPC-1000
TPC-1200
SAH
393

www. TPCpage.cn



	383~428 NLCD~NF 1
	383~428 NLCD~NF 2
	383~428 NLCD~NF 3
	383~428 NLCD~NF 4
	383~428 NLCD~NF 5
	383~428 NLCD~NF 6
	383~428 NLCD~NF 7
	383~428 NLCD~NF 8
	383~428 NLCD~NF 9
	383~428 NLCD~NF 10
	383~428 NLCD~NF 11

